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X–   – (  - I )  
MODEL PAPER-5, T/M 

————————————————————————————————————— 
CLASS-X       PART: A & B        MAX, MARKS: 80         TIME: 3.15 Hrs 

PART – A (Marks:60) 
 

SECTIONS: I (6x2=12 Marks) 
Group - A 


 Log381 


 

 A= {x:x Є N, x<6}  B= {x:x Є N, 3 < x < 8}  A-B ് B-A 



P(x)=4x2+3x1ଵସ 

‘p’
  px+3y–(p-3)=0 

                  12x+py-p=0         

 

Group – B 




 

‘d’‘∝0’








4


 
SECTIONS: II (4x4=16 Marks) 


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ටଵା௦௜௡஺
ଵିௌ௜௡஺= sec A + Tan A (00 < θ < 900) 




 



     
     




x2+5x+6





2x+3y=93x+4y=5
 


 

 
SECTIONS: III (4x8=32 Marks) 

Group - A 
 
P(x)=x2x12


√5 - √3 




 

Group – B 








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


15-20 20-25 25-30 30-35 35-40 40-45 45-50 50-55 


 

3 8 9 10 3 0 0 2 







————————————————————————————————————— 
PART - B (20x1=20 Marks) 

BIT PAPER 
——————————————————————————————————————— 
1)  A  B  n (A)=6, n(B) =5  n [       ] 

(a)  11                     (b) 6                   (c) 5                (d) 1 

2) 0.225 = ____                  [       ] 

(a) 225                (b) 
ଶଶହ
ଵ଴మ                 (c) 

ଶଶହ
ଵ଴ర              (d) 

ଽ
ସ଴ 

3) p(x) = x2-4x+5,  P(1) = ____           [       ] 

(a)  1           (b) 0         (c) 2          (d) 4 
4) ax2+bx+c=0                      [       ] 

(a) 
–௕ା√௕మିସ௔௖

௔௖                          (b) 
–௕ି√௕మିସ

ଷ      

(c) 
ି௕േ√ୠିସ௔௖

ଶ௔                     (d) 
ି௕േ√௕మିସ௔௖

ଶ௔  

5) a1x+b1y+c1=0  a2x+b2y+c2=0  ____        [      ] 

(a)       (b)   (c)      (d) none 

6)  3, 11, 19 --------                                                  [      ] 

(a)  73          (b) 16          (c) 75           (d) 85 

7) (-2, 3)  (2, -3)                [      ] 

(a)  0      (b) 52            (c) √52         (d) 16 

8) 

                   [      ] 

(a)   9         (b) 6            (c) 6-1         (d) 5 
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9)      [      ] 

(a) 10         (b) 12          (c) 9              (d) 2 

10)   ____cu units              [      ] 

(a) ∏r2h          (b) ∏r2         (c) 
	∏
୰                  (d) None 

11) √1 ൅ coݐଶθ = _____ ?                          [       ] 

(b)  Cosec2θ     (b) 1+cotθ         (c) secθ        (d) cosecθ 

12) sin2θ+cos2θ = ____                                  [       ] 

(a)  1            (b) 0        (c) 2             (d) None 

13)                          [       ] 

(a)  1               (b) 0                 (c) 4                    (d) None 

14)               [       ] 

(a)  mode          (b) median          (c) mean       (d) none 

15) Logc√c = ________                           [      ] 

(a)  2            (b) -1                (c) 1                (d) 
ଵ
ଶ 

16) ሺ7, 5ሻ	Є	_______	                                           [      ] 

(a) Q1           (b) Q2                (c) Q3            (d) Q4 

17)               [       ] 

(a)   5+4x=y+3    (b) x+2y=y-x   (c) 3-x=y2+4  (d) x+y=0 

18)   [       ] 

(a)   
ଵ
଺           (b) 

ଵ
ଷ          (c) 

ଵ
ଶ        (d) 

ଶ
ହ 

19) 
ଵି୲ୟ௡మସହబ
ଵା୲ୟ௡మସହబ = ________                                  [       ] 

(a) 1            (b) 0                  (c) െ1              (d) 8    

20) 23, 24, 24, 22,  20   _______                     [      ] 

(a)  22.6      (b) 16.2             (c) 18.9          (d) 20.9 
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